2.9 39.2
23.1
17.5
—
fIERHE >
i ALIGNMENT PIN
L____L-]Ef// 2
o
_ <
o s )
oi L QQ ] (@)
o = O <A _
S 3 =) ]
= =
S FS5A AV RT—4
ALIGNMENT MARK
= 7 UF vy 7 R—k (M5)
UNCHUCK PORT (M5)
(8.4) 1 —H—R— k62 (M5)

6-USER PORT (M5)
X EED. 2/NOTE. 2

X EER. 5/NOTE. 5

14

EFFECTIVE DEPTH 6mm OR MORE
X5E¥E2. 3/NOTE. 3

Em/ vIEVRE
ALIGNMENT PIN

®4 OR ¢6 H7 0" HHFES6LIE P7 _//
d /A

®15 HT 0" BES4LE
EFFECTIVE DEPTH 4mm OR MORE
A4 oa0—{E

SPIGOT JOINT

4xM6x1.0

90° ZfA2/EVERY 90°

(BEhES ILEAMEIZ X )

(EFFECTIVE DEPTH DEPENDS
ON APPLIED MATERIAL)

AXBR{F7RIL B IALiE
4xHEX SOCKET HEAD CAP SCREW

1

2XRATYTERIL B (M3x16)
2xHEX SOCKET HEAD CAP SCREW
TORQUE:0.6 N = m

»3E¥ED. 4/NOTE. 4
EREBEY 156K

15 ELECTRIGC SIGNAL PINS

2XFRATUTERIL B (M3x8)
2xHEX SOCKET HEAD CAP SCREW
TORQUE:T N = m

¢EED. 4/NOTE. 4

AxFRATYFTERIL B (M6x25)
4xHEX SOCKET HEAD CAP SCREW

TORQUE:8 N+ m
X EES. 4/NOTE. 4

x+FRAZTMFRS (M3x8)
2xCROSS RECESSED COUNTERSUNK HEAD SCREW
TORQUE:0.08 N - m
X EES. 4/NOTE. 4
X H AT R (R E &
TEMPORAL TACKING AT SHIPMENT

E - JuHEY

2.9 ALTGNMENT PIN

' X EES. 3/NOTE. 3

F v R— bk (Mb)
CHUCK PORT (M5)

3.4
| XSEEE. 5/NOTE. 5
|

1
2.

_PLEASE WIRING A CABLE TO ELECTRIC BY YOUR SELF.
T

HE FITTING USED FOR THE PORT MUST BE ®9.8 OR LESS

3. SELECT ALIGNMENT PIN ACCORDING TO MOUNTING FLANGE SPECIFICATION
4. ASSEMBLY WHEN THE SCREW L OCKING AGENT (LOW-INTENSITY) APPLICATION OF IT

5. TO PREVENT INTERFERENCE WITH THE ELECTRIC BLOCK ASSEMBLY
PROVIDE A SPACE OF 3.4mm OR MORE IN THE SHADED AREA.

i

ARy F7HETE ESE AL A5E)

NITTAOMEGA type S_CRWMAMWW(MWMPWHWWS)

TITLE

S

DOC No.

SCR15-6JN0OO
T20181210-24-0 "el 2018/12/10

ft

—VIBERAEL
' NITTA NITTA CORPBORATION




